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& 6,066
< 2,600
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O T At 6,555,573
& 4,588,902
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01 AL EFH S 2,500 33,000 230,500
CJOSLRIH O 2t = & 2,500
AL 22 8,547,375 0 8,547,375
= 5,983, 163
< 2,564,212
401 Al HI K 201 8,547,375 0 8,547,375
= 5,983,163
< 2,564,212
01 A& HI 8,304,929 0 8,304,929
DA x4 2tel 8,304,929
= 5,813,450
< 2,491,479
02 2feldl 167,205 0 167,205
DA x4 22 167,205
= 117,044
< 50,161
03 AlE 2 THHI 75,241 0 75,241
OAg g xdz2tel 75,241
= 52,669
< 22,572
HY2IYZH (MBBHARR AE2XR) 853,352 824,166 29,186
ol 2 gl 748,001 720,450 27,551
ol 2AH| 748,001 720,450 27,551
101 @124 dl 722,501 694,470 28,031
01 2= 606,228 588,710 17,518
OJ12= 433,960
O=s 400,578
-52(30&8) 3,849,500& x1H x 123 46,194
-6= (228 8) 3,091,600& x4H «12& 148,397
-72(11e8) 2,215,800& x4H 123 106,359
-8=(98 ) 1,864,300& x2H x 123 44,744
-Jls73(2688) 2,951, 100& x1H x 123 35,414
-Jls9=2 (85 E) 1,622,5003 x1H x 123 19,470
OFSE=E=y 400,578,000% *1/12 33,382
O=¢ 93,748
OlHRSRE=E 1,676
-68UR(BEE)
3,404,500 *4 1%+ 1H 128 1,676
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- 25E 0] & 130,000 x3H »12& 4,680
- 204 0l Ab~25 0] 2F 110,000& x 1 x12& 1,320
- 154 0| &~20E 0] 2t 80,000& x2H x12& 1,920
- 10 0] Ab~15E 0] 2t 60,000& »2H x12& 1,440
- 5 0] &~10E O] B 50,0003 x5 x12& 3,000
Ons< 10,080
- BH S Xt 40,0003 x13H x12& 6,240
- JIEHDHE 20,000& *13H x12& 3,120
- Jbak=2 30,0003 x2H x12& 720
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odzx4¢ 54,264,000 «1/12 4,522
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SRR
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O&N= 10,208,000 = 1/12+400% 3,403
OFs=+% 40,8303 «1H 52 2,124
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OusE x| 60,000 «1H « 122 720
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OFHZ Al 130,000 x1H «12& 1,560
OS5t Atz 2 1,500
204 MR F | 22,620 22,620 0
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=3l 105,351 103,716 1,635
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201 Let24d] 87,381 84,696 2,685
01 At 2teltl 33,395 30,879 2,516
Ogpt=2H] 18,120
OSASBSXNLIZMRESYI 5,000
OHIFERUHLUER=ESZ 1,000
OLEMA R 3,200
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